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HEHARITIE LD E#EE R
BRRMTBADICEHELCWSEBESAEEE CAEL-EAERDBILEOWECPNL, LdenRUBEERERBIERDLEEYTT .
[E/27€48] EE: WECPNL{E
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T BEXRLEMEH

= ax 1B 2B [3A|[4B [ 5B [ 6B | 7B [ 8B | 9B [10A[11BH[12A[138[14B[15H
ho A=t AR @@ @E @ ol | @@ @E]|@ ] oolok|™

1T EEMA (AL 8D 931] 881_[ 954 [ 778 ] 885 | 820 | 80.8 | 67.7_[ 82.3_| 81.1_[ 746 ] 849 | 888 | 82.1 [ 79.2_

1| ERARETFE AR L (74.4)| (69.8) | (76.1)] (61.1)] (71.1) [ (65.3) | (64.4) | (49.1) | (65)_|_(65)_|(57.8)| (63.8)] (71) [(642)](60.8)
57 [ 71 49 8 4 28 | 26 5 62 4 | 10 3 6 26 | 17

1TEREBAE R (FfAD 934 [ 783 [ 783_| 752 ] 705 | 830 | 858 [ 724 [ 90.1_| 81.3_[ 866 | 820 | 829 | 786 [ 746

2 |BRESRYRET (73.1) [ (60.3) | (66.5)| (57) | (52.8) [ (64.7) | (69)_ | (54)_| (70.5) | (63.2) | (66.4)| (62.4) | (65.1) | (60.1) | (56.7)
61 60 | 42 9 2 33 | 29 10 | 73 56 | 10 3 11 22 | 21

ERAET R 52— J15 | 659_| 639 { 617 ] 615 | 600 | 634 | 439 | 64.6_| 626_| 541 | 55.6 | 658 | 621 | 55.4_

3 |EREETTIN (BG1.D| (53.1) [(47.4)| (49.3)] (48.8) | (48.9) | (51.3) | (32.8) [ (51.1) | (50.7) | (41.4)] (431D ] (53.9)] (50.2) [ (43)_
28 [ 25 8 6 2 9 1 i 17 9 4 3 6 15 5

AER 630 [ 604 [ 574 | 596 ] 594 | 572 | 61.3 | 474 | 60.6_|_615_| 541 | 554 | 61.7 | 58.7 | 51.1_

4 |BREETIAIR (50) [ (47.3) [(42.3)| (47.5)] (41.9) ] (46.1) [ (48.9) [ (33.4) | (47.6) |_ (50) _| (41.2)] (43.6) ] (51.2) | (47.4) [ (39.1)
7 22 2 6 2 7 1 1 13 9 4 2 4 12 4

ABHEFRRE 788 | 71.3 | 740 | 674 | 684 | 664 | 705 | 557 | 69.4_| 661 | 612 | 645 | 755 | 702 | 63.6_

5 |(ARTFN (63.8) [ (57.6) | (57.8) | _(54) | (65.8) | (53.4) | (56.3) [ (42.1) | (55.3) | (54.5) | (47.4)] (53.5) ] (61.6) | (55.4) | (50.1)
38 [ 35 [ 13 6 2 9 1 4 22 12 5 2 6 1 10

BAEEEANR—LAT FE 814 [ 738 | 75.0 | 670 ] 775 | 689 | 72.7 | 59.6_| 70.9_[_ 689 _| 640 | 692 | 788 | 718 | 61.4

6 |EnfSETFIAR Y15 (67.8)[ (60.7) | (61) | (54.2)] (63.2)] (55.9) [ (58.2) | (45)_|_ (57)_|(56.9) | (50.2)] (56.8) | (64.1) [ (57.3) [ (48.5)
42 | 64 | 44 6 2 17 2 6 33 | 22 5 2 6 18 8

BEAT LT LB+ /N 634 | 57.2_ | 553 |-———| =] 616 | ——=|—-—=| 622 [ 657 |-——|-—-—| 776 | 643 | 61.5_

7 |REALTRE (50.6) | (42.6) | (45) |-——| ==—=] 49.2) | ———= | ——=| @D_|(526) |-——| -——] (66) | (50.4) | (42.5)
16 2 1 0 0 17 0 0 5 30 0 0 9 14 3

RS ILEP/NFER 759 | 679 | 668 | 57.9 | 513 | 689 | 66.7 | 57.7_| 72.4_|_ 65.0_| 679 | 650 | 66.0 | 60.8 | 64.0_

8 |HRE T H HHET (61.9)| (54.2) [ (56.9)| (45.6)] (39.2) | (54.1) | (54.4) | (45.9) [ (58.2) | (51.1) | (53.3)] (51.1D)] (52.71) | (48.2) | (49.5)
7 | 29 7 8 1 19 2 7 60 | 31 8 1 11 14 [ 14

BEMILERPER 712 ] 621_[ 618 | 528 |——] 588 | 636 | 586_| 67.7_|_60.1_[ 625 | 572 | 61.1 | 60.1 | 62.1_

9 |RBETEIRET (57.6) [ (49.2) [ (50.1) | (41.2)] ——] (46.5) | (50) [ (46.1) [ (53.6) | (47.9)|(484)] (43.1)] (48.4) | (471.7) | (47.6)
40 | 23 7 6 0 13 18 7 40 19 3 1 11 1 10

NEFHBINTRELE— 837 [ 644 [ 689 | 624 | 610 | 666 | 726 | 625 | 77.5_| 649 [ 769 | 709 | 70.0 | 67.1 [ 64.6_

10 |\NEFHAIIE 66D (50.9) | 57 _| (49.3)] 47.0 | (52.5) | (59.5) | (48.9) [ (61.6) | (51.3) | (60.5)] (55) | (57.3)] (B4.1) [(50.2)
33 [ 16 3 7 2 13 [ 2 10 | 24 13 8 1 5 [ 2 14

BER 627 | 71.2_| 649 { 525 | 496 | 641 |———| 558 | 69.2 | 613 | 503 | 443 | 442 | 512 | 584_

1" |BEMERE (50.5) [ (55.4) [ (50.1)| (39.1)] (35) | (49.2) [ ———[(43.5) [ (55.1) | (47.7) | (36.3)] (30.9)] (31) | (36.9) | (45.4)
15 [ 32 | 31 1 2 12 0 8 30 16 2 1 1 2 1

IHTRRT B = /NP 694 | 582 | 594 | 535 | 672 | 525 | 54.7 | 51.8_| 54.3_|_62.0_[ 530 | 57.8 | 63.9 | 53.6 |-——-

12 (IRFEET —AK (65.7) | (44.2) | (44.3)] (41.8)] (54.8) [ (41.3) | (43) | (41.3)| (42)_|(49.2)|(40.7)| (47.5)] (50.9) | (42.9) |-=—=
7 5 5 4 2 3 4 2 4 3 4 1 6 4 0

BEMILESNER 780 | 627 | 645 | 582 | 490 | 619 | 68.3 [ 61.3 | 73.5_|_61.4_| 71.6 | 67.3 | 678 | 652 | 61.5_

13 |BEFH#ETFWL (61.2)| (49.6) [ (53.7)| (46.2)] B7.1D ] (49) | (56.1) [ (47.5) [ (59.3) | (49.2) |_(57) ] (53.3)] (56.2) | (54.5) | (48.5)
0o [ 16 3 7 2 9 2 11 19 12 6 2 i8 [ 3 9

= ax 16H [178 [18H [19R [20R [218 [22H [238 [24H [25RH [268 [278 [28R [29R [30H

o A=k AR @@ @@ ool @@ @@ oo™

1T EEMA (LR 769 | 62.1_[ 902 | 826 | 835 | 777 | 865 | 885 [ 93.9_| 959 [ 732 ] 851 | 857 | 82.6 | 68.1_

1 |TEETFE RS IR (58.2) [ (48.5) | (70)_| (66.7)] (64.9) | (61) [ (67.6) [ (69.7) |.(74.4)|_ (7D _|(54.6)] (66.5) ] (66.4) | (63.7) | (50.5)
23 [ 11 8 5 29 | 26 68 55 | 38 5 1 43 | 23 | 28 2

1TEREAE R (FfAD 761 [ 732 | 821 | 729 | 756 | 845 | 776 | 79.0_| 73.1_ [ 81.7_| 897 ] 831 [ 795 | 743 [ 71.3

2 |BRESRYRHET (63.4)| (58.8) | (65.4)) (57.7)] (58.5) | (66) | (60.2) | (61.5) | (56.2) | (63.1) | _(73) | (65.4)] (63.1) [ (59.7) | (53.4)
28 [ 18 9 9 25 | 28 | 62 [ 42 | 31 8 5 45 | 29 26 | 10

ERAET R 52— 564 |-———1 59,5 | 621 | 631 | 61.0 | 637 | 605 | 68.6_| 722 | 520 | 624 | 598 | 612 | 47.2

3 |BREETIAN (42.8) [ ——-[(46.8)| (53.2)] (49.1) | (47.8) | (51)_[(49.1) | (54.1) | (57.1)|(38.9)| (49.4) ]| (48.1) | (49.8) | (34.4)
9 0 6 4 18 8 12 10 11 5 1 16 1 1 1

AER 499 | 446_| 566 | 606 | 537 | 57.6 | 560 | 57.8 | 64.7 | 628 | 51.0 { 535 | 549 | 56.1 |-

4 (BRAETAER (87.2)[ (28.3) | (43)_|(51.8)] (41.1) [ (44.8) | (44.1) | (44.2) | (50.5) | (50.1) | (39.2)| (40.2) | (42.7) | (45.6) |--=—=
3 1 2 4 8 6 7 7 9 3 2 5 4 7 0

ABHEF A RE 65.1 | 530_[ 79.1_| 684 ] 69.1 | 676 | 680 | 72.1_| 80.2_| 76.6_| 544 | 70.7 | 67.0 | 67.1_ | 51.4_

5 |(ARTFN (49.8)| (40.2) | (62.8) | (57.5)| (54.9) ]| (63.3) [ (54) | (57.5) | (63.7) | (61.4)|(40.7)| (55.7) | (52.5) | (52.8) | (39.4)
13 2 6 3 27 9 28 | 27 23 4 1 30 15 16 3

BAIEEEANR—LAT FE 626 | 548 | 78.7_| 693 | 675 | 703 | 724 | 72.7 | 79.6_|_75.4_| 577 | 70.1 | 689 | 68.1 | 53.0_

6 |EnfSETFEAR Y15 (48) [ (42.5) [(60.5)| (58.8)] (54) | (55.6) [ (58.9) [ (60) | (64.4) | (61.7) | (44.7)] (56.5)| (55) | (53.6) [ (40.4)
20 3 6 3 26 13 [ 61 41 39 4 1 39 | 21 2 2

REMLUTILE /N 66.9 | 665 | 551 f———-]——-—| 539 | 646 | 669 | 65.2 | 542 | 706 | 637 | 612 | 566 |-

7 |REA LT (62.8) | (50.5) | (39.7) | =——=] ————[ (43) | (49.9) | (52.3) | (46.7) | (42.7) | (52.4)| (50.7) | (48.1) | (44.9) | --—=
24 7 1 0 0 4 1 23 2 2 9 22 1 5 0

A ST 3z H th/h AR 660 | 61.7.[ 66.2_| 647 ] 656 | 675 | 642 | 67.3 | 62.9 | 71.3_[ 807 ] 71.7 | 686 | 66.8 | 61.9_

8 (HA & HhET (51.2) | (48.1) | (54.3)| (52.5)| (52.1) | (56.1) | (50.8) | (54.3) | (49.9) | (53.1) | (66.9)] (56.6) | (55.5) ] (55.2) | (47.4)
11 8 4 5 18 [ 21 1 19 13 8 3 23 13 17 6

BEMILERPER 612 | 522 | 704_| 604 | 630 | 631 | 59.2 | 635 | 58.4_| 675_| 744 | 66.7 | 628 | 63.0 | 55.0_

9 |RBETEIRET (47.8)[ (41.1) [ (56.7) | (48.8)] (49.2) | (52) | (46)_ [ (51.9) | (45.2) | (50.4)|(62.8)] (52.2) | (50.7) | (52.2) | (42)_
7 4 4 5 15 11 14 14 7 7 2 17 10 1 4

NEFHBINTRELE— 650 | 60.3_[ 738_| 630 ] 640 | 665 | 64.1 | 659 | 59.4_| 642 | 801 | 723 | 67.3 | 66.1_ | 61.4_

10 |\EFHAIIE (51.9)[ (49.6) | (59)_| (50.3)] (50.2) | (54.1) [ (50.1) [ (53)_| (47.1)| (50.5) |(65.2)] (55.2) ] (52.3) | (52.9) | (45.8)
14 [ 11 4 5 16 15 1 13 7 6 2 17 11 14 6

BER oL 991 |02 519 | -] 603 | 642 | 70.9_| 61.4_( 454 | 56.6 | 657 | 648 | 644 |-

| REmEE oo L@2.1) |- | (87.9) | =] (46.9) [ (50.7) | (85.4) | (47.3) | (30.9) | (46.8) (51.1) | (49.8) | (49) |-~
0 2 1 0 3 2 19 15 1 2 15 10 11 0

IHTERT B = /NP oo 449 | 481 | 549 | 535 | 544 0 | 589 [-——

12 (IRFEET — AR - L(84.2) | (36,6)| (45) | (34.1) | (40.7) 3. | (46.2) |-
0 1 1 1 1 3 3 0

BEMILESNER 614 | 586_| 66.4_| 588 | 583 | 66.7 | | 58.4 | 60.9_

13 |BEFH#ETFL (49.3) [ (47.9) [ (53.3) | (46.8)] (46.3)| (53.1) [ | (47.1) | (49.1)
12 [ 10 3 5 11 17 9 10
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